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In the present article the uniform, joint solution of the phenomena of the matter, the
Universe, the Singularity and the time is given.

Let's imagine that our Universe has the center. Let in the Universe center is a material
(from a word ‘matter’) core. The Universe core consists of the ‘pure’ matter. Let's name
Singularity the Universe core. We will assume that this matter’s core radiates into the Universe
‘pure’ matter in the form of elementary particles of a matter, we name their atoms of a matter.
It is possible to consider that the Singularity represents matter’s harmonious oscillator. Its
frequency sets, defines a rhythm of the nature. One step of rhythm of the nature defines
elementary unit of connatural universal time. It will be the dimensionless time. In each step of a
rhythm of the nature in the Universe one atom of a matter is radiated. Each atom of a matter
contains the same, quite certain quantity of a ‘pure’ matter. If this quantity of a matter to put in
conformity of time duration we will define unit of dimensional connatural universal time.
Dimension of this time duration will coincide with dimension of a matter. Here that there is a
matter! Here that there is a Universe! Here that there is the Singularity! Here that there is a
time!

In Russian

B Hacrosimeil craTbe naeTcs enuHas, COBMECTHasI pa3rajka siBJI€HUH MaTepuu,
Bcenennoii, CHHTYIISIPHOCTH U BpEMEHH.

[IpencraBum cebe, uro Hama Beenennas nmeet neHtp. [lycTts B nenTpe Beenennoi
HAaXOJIUTCS MaTepHabHOE (OT CIIOBa «MaTepHsi») Aapo. SIapo BeeaeHHON COCTOUT U3 ‘YUUCTO#’
Marepuu. bynem HazpiBaTh CHUHTYISIPHOCTBIO si1po Beenennoil. [lpeanonoxum, 4o 310
MaTepHuanbHOE A/IpO U3Iy4aeT BO BeeneHHyro MaTepHio B BUJIE AJIEMEHTAPHBIX MaTEPUATIbHBIX
YaCTUYEK MaTEPUH, HA30BEM UX KPyNHIlaMU MaTepuu. MOXHO cunuTath, 4To CUHTYISIPHOCTD
MPEICTABISIET COOOM MaTepUalbHbBIN (OT CJI0BA «MAaTEPHs») TAPMOHUYECKUN ocIuiuiaTop. Ero
4acTOTa 3a/1a€T, ONPEIeNAeT €CTECTBEHHBIA PUTM NpUpoAbl. OJUH TaKT pUTMa MPUPO/IBI
orpezeNnseT 3IEMEHTapHYI0 €IMHUILY IPUPOJHOTO BCEJIEHCKOTO BpeMEHHU. ITO OyaeT
0e3paszmepHoe BpeMs. B kakplii TakT puT™Ma IpUpoibl BO BeeneHHyro n3mydaercs ogHa
Kpynuna matepun. Kaxaast kpynuiia MaTepun COAEPKUT OJTHO U TO e, BIIOJIHE ONPEIEeTIEHHOE
KOJINYECTBO MaTepuu. Eciau 3T0 KOIMYECTBO MAaTEPUU TOCTABUTh B COOTBETCTBUE BPEMEHHOM
JUIUTEIIBHOCTH, TO MBI OIIPEAEIIUM EIUHHULLY PA3MEPHOTO MPUPOAHOTO BCEJIEHCKOTO BPEMEHH.
Pa3mepHOCTh 3TOTO BpeMeHu Oy/eT COBMaaTh C pa3MEpHOCThIO MaTepuu. BoT, uTo Takoe
matepusi! BoT uro Takoe Beenennas! Bot uro takoe Cunrymsipaocts! BoT uto Takoe Bpems!
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